PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
19th July 2016, 09:00 AM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Which of the states was earlier known as North East Frontier Agency? / &9 a1
Y UEd IR Ud ATHId GRAT & Y H ST 1l AUT?

® West Bengal / LIEE RG]

® Arunachal Pradesh / 3rSUTTIA USRI
® Assam / 3HH

® Orissa/ 3@'\‘"

Correct Answer :-Arunachal Pradesh / W'ﬁ%ﬂ

2)
Question Stimulus :-

The manages the public debt of Central and State Governments. /

% 3R I PRI & AGAP B ST JaU= Sl g
® Bank of India / 333 3T 3'%'{“
® State Bank of India / Q%E' CEg Gﬁ’w g%’lﬂ
® Reserve Bank of India / ﬁﬁéaﬂf 3P 3'%'{”
® Union Bank of India / ?I&PFT 3@ 3T E'%TIT

Correct Answer :-Reserve Bank of India / f¥5Id 9 3iT® sfaar

3)
Question Stimulus :-

A call center company had to arrange transportation for its employees. They asked for
quotes from different provider agencies and the following are the options they got: / T®
Hid Jdex U B AU FHAE & g TRags ot saawat HA1 F1 FU F ST T v ek
A P 3R 3= U e fa

A. This option allows having uniform rate for day and night trips. This would cost you

Rs.1000 per trip. / A. 9% fd®eu &9 3R Ia &1 arn & forg 9u o3 311 9t 3rgafa 3ar 31 599 ufa g
)



3(T9 T 1000 BT & SATTITI

B. This option has differential fare for day and night trips. Day _trips would cost 700 per tr_ip
and night trips would be charged 1200 per trip. / B. g9 e d o 3T I B AET P W |
3R g1 &7 # amn ufa g 700 AT et SR Id @1 aET # Ui aET 1200 IY@AT SE|

C. This option charges depending on the total distance covered in a trip. It charges Rs.800
per trip if trip distance is more than 50 KM and Rs.1100 if trip distance is less than 50KM. /
C. 39 fdwey # o 96T &1 $a g & SMYUR U Y[eh [T ST $99 Uid am 800 FUT fohmar ghm afe
g &t 50 . . I 3ifte Rt Siik 1100 FuT farar ghm afe g&t 50 . . & w5 gril

If the company has 3 night trips and aII. less than 50KM angl 3 day trips less than 50KM,
which would be the best option? / If¢ Ul & U 3 T IETE € 3R 9+t 50 fFaficy A FH 3 3
o<1 31 am=Te € St 50 fParier A $9 P 2, a1 P A1 APy & IS gNIT?

® BorC/BUIC
Correct Answer :-B
4)
Question Stimulus :-
If cream cracker means computer programming, and its not cream cracker, then it's
not programming. / f¢ HIH $HR BT Adad HIEI UATHHT B, 3R T8 HIH HHe el ¢, df T8 W
T g
* True / Hﬁ
e False / Tdd
e Maybe / s‘r WT%
e Irrelevant / UTERTS
Correct Answer :-Maybe / 3’[ gbdl %
5)
Question Stimulus :-

This company, founded by Dhirajlal Hirachand Ambani, started off by trading spices. / g HYT TR

BTG ST gRT RATF, 79T & TaR @ IR &1 78 4

® Infosys / ERLIIREG|
3)



® Tata / CICI

e Jindal / fNiga

e Reliance / Ramdd
Correct Answer :-Reliance / f¥amd¥
6)
Question Stimulus :-

The proportion of Rajya Sabha members retiring every 2 years is / B¥ 2 wﬁﬁmﬁﬁ@ﬁmﬁwm T-Iﬂ?ﬁ
T 3JUTd &

® 100%

® 50%

® 33%

® None of these /?Fﬂ?[ ﬁiﬁ‘s-f:lﬁ
Correct Answer :-33%
7)

Question Stimulus :-

In which year was Shivpuri established as a national park? / fraaad ﬂrq'gﬁ Cal ?Tgm U & =9 § R
fepar war ur?

® 1958

® 1978

* 2008

® 1998
Correct Answer :-1958
8)
Question Stimulus :-

Ustad Zawad Ali Khan sings in this style of music / 3¢ TaIg 3feil WM Tid &t 59
ﬁ?ﬁﬁ"l‘l?f%:

® Carnatic / i
4)



® Thumri / §1T~ﬁ
* Hindustani / fogwarit

® Dhrupad / YUc

Correct Answer :-Thumri / AR

9)

Question Stimulus :-

Which of the following was once a capital city of the Bundelas? / fad s TMeR ot Qa?[ P ITSTUTT
GSIT hdT Y1?

Bhind / f3iE
Shivpuri / FRIagst
Chhatarpur / ®dIYY
Orchha / 3MRST

Correct Answer :-Orchha / 3RST

10)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / g fape ﬂﬁ'q,ﬁﬁ qob Bl ?@
AT mWHEF TR :

If you pass in English, then you will pass in maths. / iR Gﬂﬂai'aiﬂﬁB?ﬁ'Ufﬁ?r%', ar 3y
Tfora & Sl giv|

If you don’t pass in English, then you will not pass in maths. / TR 3T 3l # Sl
81 g1d g, al 3y 7ifora ® S<htof =18t gt

If you pass in maths, then you will pass in English. /wmnﬁaﬁa?ﬁvfa?r%‘, T 3y
3 & 3ol g

If you haven’t passed in maths, then you haven’t passed in English. / 3R 3T T
T Iiiof 981 gu, a1 3y SRiSh | Sl 1 Y gul

If you haven’t passed in maths, then you have passed in English. / 3R 3T TIfoTd o
htof =16t g, ot oy oRisht # S<iivf gu &

Correct Answer :-If you haven’t passed in maths, then you haven’t passed in English.

/ 3ATR 379 TFOT | I<A0T 11 §C, <Y 319 3i¥eh H S<fivf =5t gUl

(5)



11)
Question Stimulus :-

In column I are listed certain groups of individuals while in column II are listed some of
the characteristics against each group of individuals which are common to each member of

that group. / WY I faf¥y femra TEl o gfua oxar 3,99 f& WY 11 & safeaal & 998 $9
fawarel ) g Hvar @ i 39 TE & & UP de™ & oY 9EH gl

ColumnI | Column IT
FHI] W
TIK PT
TILM SUW
GHIKM RY
GHI ORV
FGI PR
HIJ OTW
T1JL QSUM
GIJ POS

Which individual has all the above characters? / ®I9 I i & T IWRIGd 9! fawans &2

e M
Correct Answer :-1

12)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁn
Sl f3U 7T Sy} vd Frepuf & av § 9 7

Statements: / ®YUY:

All dots are lines / Tt fdg ufmr &

All lines are triangles / 9 ufemal oo &
Conclusions: / fAsd:

I. All dots are triangles / 1. ﬂ‘#ﬁﬁi‘g’ ﬁTﬁUT%

II. All triangles are dots / II. @} fA®ivr fig &

(6)



® Only conclusion | follows / W foreed 1 IECZNGI %

® Only conclusion Il follows / W forsm 1) fFreaan %

® Both conclusion | and Il follows /3-171.1' ﬁ'@)’ﬁf I Gﬁ? 11 frped %

® None of the conclusion | or Il follows /W IGTII® '\ﬁ ?ﬁ'&F =r€r IECNGI %
Correct Answer :-Only conclusion I follows / SHad fwpy 1 fApadar %’

13)
Question Stimulus :-
Which is the smallest memory size? / P19 A gad B AR BIES] (Fiﬁ STPR) %?
° Megabyte/ﬁ"TWlE?
e Terabyte / CTSTSC
* Gigabyte / THIETgC
e Kilobyte / fpeliarge
Correct Answer :-Kilobyte / faliarge
14)
Question Stimulus :-
Given that / fear goll ?
i. Pis the mother of Q; / P,Q;
ii. Risthe son of P; / R, P;

iii. Sis the brotherof T; /S, T ;

iV. T is the daughterof Q; / T, Q;

The grandmother of S is? / @ s F et %'?
e p

*Q

(7)



Correct Answer :-p

15)
Question Stimulus :-

First president of the Indian National Congress was / YR ?T@Tl' PRI & UYH A A
® WC Bannerjee /S'W aquﬁ
® Annie Beasant /QT'ﬁ T
e Badruddin Tyabji / 9&8 9 dgaSit
® George Yule /ﬁﬁf qd
Correct Answer :-WC Bannerjee / S&gH! CETid
16)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁm
it fRu U Sy vd FAepul & R § 9 2

Statements: / $YUH:

Some men are kids. / P9 N = %'I

Some men are not bald. / & @ s 81 &1
Conclusions: / fAwsd:

I. All bald are kids. / I. 93U 3= €1

II1. All kids are men / 11. It s= &I'Ia'l-ﬁ%I

® Only conclusion | follows / Fad ey 1 fAeadr %
® Only conclusion Il follows / Fad ey 11 e %
® Both conclusion I and Il follows / Il =T I 3R 11 e %
® None of the conclusion l or I follows/ﬁWEf IGNIIH Y ﬁ'a‘ =I'E>pf IBEZSGI %
Correct Answer :-None of the conclusion I or Il follows / fTspd I a1 1T & ¥ aﬁ'{f T frpadar g

17)

Question Stimulus :-

(8)



Select the option, which is the logical equivalent of the statement given below: / dg fawea gﬁl"’{,\_rﬁ' TH BI E'Q'
A RRTWHFE FIq T :

"It is not true that both George and Andrew are rich.”/ 9% 9 78! & f& el 3R Tg a1 ot
iR & h

e George is not rich or Andrew is not rich. /ﬁﬁwqﬁ%mﬁgmﬂﬁal
If George is not rich, Andrew is not rich. / 3R Siref 3HIR 7Y 8, a1 T iR T8 81

If Andrew is not rich, George is not rich. / WE‘%'Gﬂﬂ?T(ﬂ%, a1 sirst SR AEY 21
* Andrew is not rich and George is not rich. / ¢§ SR 7Y § 3R St 3R =gt B

Correct Answer :-George is not rich or Andrew is not rich. / SITst GITﬂ?T-Ié’r%‘CITQZ:i 3R T8t

gl

18)
Question Stimulus :-

If the figure on left is folded to form a cube, then after fold how would it looks like? / 'Qﬁ:." T TR @t 311@7% Cal
¥4 99 & {1 wics forar Sie, a1 wies & 91¢ 98 @2

GREEN

BLUE EED PINE GEEY

WHITE

CREEN

PIXE

©)



/ PINE

CGFEY

CEEEN

MK

Correct Answer :-

19)

Question Stimulus :-

The cape route from Europe to India was first discovered by /@'C[ ¥ YRd & &Y R &1 AR Fad
TYH 35 fopar o1 |

® Amerigo Vespucci / srafemn a'agwﬁ

® Vasco-da-gama / arp! fEvmET

® Alfonso d’Albuquerque / repiar S Glﬂgiﬁ?%
* Columbus / PIAEH

Correct Answer :-Vasco-da-gama / a1 fSITHT

20)
Question Stimulus :-

Six friends A,B,C,D,E and F are sitting in a closed circle facing the centre. E is to the left
of D. C is between A and B. F is between E and A. / 3% fF A,B,C,D,E 3R F %% 3t 3R 4@
U g dc W A SO BIEED P T SR BIC AR BF T A BIFESR AT TTHA I

Who is to the right of C? /C ¥ erfg R B 82
* E
* F
* B
* A
Correct Answer :-A

21)

(10)



Question Stimulus :-
What is Nepanagar in Madhya Pradesh is known for? / HeI TR § AUTR forae I IB RS G 87
® Manganese Mines / AT @
® Newsprint Paper Mills / EIR P i
e BHEL / ¥d
® Bauxite Mines / 'éflﬁ-'ﬂ'l’g’d@'lﬂ
Correct Answer :-Newsprint Paper Mills / 3GaERI ST e
22)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o qﬁnz
Sl U U Syl vd el & ar § e R

Statements: / PYUY:

All teachers are students / 9t Rrew v %

All students are professors / I B MBI %
Conclusions: / fassd:

I. All teachers are professors / I. 9 Rr&@ TheR €

II. All professors are teachers / II. wrﬂ’ruﬁrmﬁrw %

® Only conclusion I follows / Pad ey 1 fAwear %

® Only conclusion Il follows / Had foremd 1) Frodar %

® Both conclusion | and Ii follows / I fsd I 3R II fHiwed &

® None of the conclusion |l or I follows/ﬁwﬁf ITTIIA A ﬁﬁ q’eﬁ IREZSGIN %
Correct Answer :-0Only conclusion | follows / Fad ey 1 fAeadar %

23)
Question Stimulus :-

In which year did India sign Kyoto Protocol? / g I1a § HRd A T Uiciora R g51eR foar u1?

® 2003

(11)



® 2005
®* 1999

® 2002

Correct Answer :-2002

24)
Question Stimulus :-

A,B,C,D,E and F are members of a club. There are two married couples in the group. A is
the brother of D’s husband. C is the president of All India Working Women's
Association. F, a sitarist, is a bachelor. B’s wife is not a member of the club. Four of
them belong to the same family. B and F are colleagues in the same organization. /

A,B,C,D,E 3R F U% 909 & U™ ¢l 39 Iqg ® of faarfea e €1 A, D & ufd &1 uig 81 € 3ffa
sfEar af$ fanT woEifRieem & srwe B1 F, T fidRare®, $arT 81 B ©1 Uel 39 09 &1 Jedg 81
%lﬁﬁﬁmmﬁrwé’ruﬁm?%m%l B 3R F, T & A6 § TgHH! gl

Who is married to C? /C T fpgat Rl Eﬁ%’
° A
* B
* AorB/AYUTB
e E
Correct Answer :-A

25)
Question Stimulus :-

At an Electronic Data processing unit, five out of the eight program sets P,Q,R,S,T,U,V and
W are to be operated daily. On any one day, except for the first day of a month, only three
of the program sets must be the ones that were operated on the previous day. The program
operating must also satisfy the following conditions: / T& SUaei-® Sel AT P15 UX,
P,Q,R,S,T,U,V 3R W 316 # | Uig sdmpHl &1 &= &7 aam &1 fAuRa fan afta & g i sieax
éﬁ;ﬁﬁ%?ﬁﬁ,mmwwaﬁmﬁﬁﬁ%ﬁﬁ?mml TR W A w6t & SR

|

1. If program P is to be operated on a day, V can’t be operated on that day. / 1. SR P
PRip oI fHedt fas gam 8, @Y 39 &9 v 3 gaman = -1 J&an

2. If Q is to be operated on a day, T must be one of the programs to be operated after Q. /

2. IR Q HTU®H &I frdlt R gaFT 8, A T PdPHHI § I TP g1 ALY, Q & 91 IATAT ST TIT|

3. If Ris to be operated on a day, V must be one of the programs to be operated after R. /

3. 3R R HIHH P fHA faT ga=1 8, df vV i Hl § A U g9 T1iey, Sl R & 918 I/l ST gl

(12)



4. The last program to be operated on any day must be either S or U. 3ifaw wrfwH o fHdt e
TN ST, 98 S a1 U § § TH g1 9feT|

If the program sets R and W are to be operated on the first day, which of the following ]
could be the other program on that day? / IR R MR W B ygd f&T wem=T 99 8 ?ﬁ,ﬁ'ﬁ )
DI A1 PRIHH 39 a1 37 g1 AHa1 372

e PTV
°* QS,V
e QT,V
* T,S,V
Correct Answer :-T,S,V

26)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ, tl?ﬁ a1 uel & o= foeedt
TPR 4 DS G9y g Fra fpeut # 9 Hur ug g Riger faR u¢ & a1y S 9eR &1 J6Y 2

BDAC : FHEG :: NPMO : ?
® QTRS
® RQTS
® TRQS
e RTQS
Correct Answer :-RTQS

27)

Question Stimulus :-

The oldest oil refinery in India is at / HIRd | '\‘lﬁ'\ﬁ gTFﬂ ad WIE*I'\& 7 %I

® Digboi (in Assam) / ﬁ'ﬂﬁﬁé CERE))
® Haldia (near Calcutta) / Eﬁt{fﬂ (ﬁﬂaﬂ—cﬂ cg )
® Koyali (near Baroda) / HIe (a—e'ﬁa’r %W)

(13)



® Noonmati (in Assam) /ﬂ:ﬂﬁf (3HH)
Correct Answer :-Digboi (in Assam) / fSTEIS (3r:_TH)
28)

Question Stimulus :-

Who succeeded Pandit Jawaharlal Nehru as the Prime Minister of India? / ufsa oldigy Wﬁw %m HRd &
YUTTHA BT T2

® Lal Bahadur Shastri / A< dglgy
® [ndira Gandhi / s'ﬁ?T i
® Morarji Desai /'FhTR\_rﬁ é‘mﬁ
® Gulzarilal Nanda / '{m\_rl'lﬂ?l'lﬁ:la
Correct Answer :-Gulzarilal Nanda / [@SIRIATe =gl

29)
Question Stimulus :-

How many times will you write even numerals if you write all the humbers from 291 to
300? / 3R 3T 291 ¥ 300 d% It Y&IR forad & af fopat IR 3y 99 T=m fadae

e 11
* 13
e 15
° 17
Correct Answer :-13

30)
Question Stimulus :-

Who is known for the “Bhoodan Movement”? / "HGT 3T_Ia-" & g fpap! s e 82
® MG Ranade / THSI TS
® JP Narayan / SUt AR

® Jagjivan Ram / SITSTIG XTH

(14)



® Vinoba Bhave / faaT 4T
Correct Answer :-Vinoba Bhave / fa9aT HTa
31)

Question Stimulus :-

Who founded Vatapi? / aTaTdl @1 RITYT fopa= &1 2
® Pulakeshin Il / QEHTIR II

® Krishna Deva Raya / [ CERID]

® Pulakeshin I / QBRI I

® Raja Raja Chola / ITSIT IS A
Correct Answer :-Pulakeshin I / JAPBI I
32)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& fape ﬁﬁ"f({,\_rﬁ e =P
AR AT IIEE

If the statement is not True, then it is False. / af¢ U7 I 7} ¢, d I8 Tad 2|
o If the statement is True, then it is not False / gfe YT Tgt %, a1 98 Tad Tl %I
e If the statement is False, then it is not True/ gfe HYF Tod %, a g el 6l %I
¢ If the statement is not False, then it is True/ Tlﬂ' DY Icdd Hﬁ%, at qg '\’:I%’r %I

e If the statement is not True, then it is not False/ ”Clﬁ DY ?T(?r H%’f %, ar g Tdd H%’f %I

Correct Answer :-If the statement is not False, then it is True/ If¢ YT Ted T8l §, df

ag el gl

33)
Question Stimulus :-
Pre-historic painted rock shelters at Chaturbhuj Nala are located in___./ il'ﬂ'{-[ﬁ ATl IR '@W fafa
Jgpamym WG E
® Bhanpur / HTTYR
® Khasrawad / €TEdIg

(15)



° Raverkhedi/ﬂ'a?@@

® Mahua / Hg3T
Correct Answer :-Bhanpur / TR
34)

Question Stimulus :-

What is the day on 15th August 2050? / 15 3RT¥d 2050 & HI< AT fa1 82
e Monday / JHdR
* Tuesday / HIddR

* Wednesday / §YdR

®* Thursday / [¥dR

Correct Answer :-Monday / JHAR

35)
Question Stimulus :-

Fixed Deposit, a financial instrument provided by banks is also knownas ___ ./ ﬁ'ﬁﬁ[\_rﬂ:lT, foxia St GIRI
AP T e $ wud W S S 2l

® Recurring deposit / STt STHT

® Current deposit / JTHT STHT

® Term Deposit / 37qf ST

® Savings bank deposit / S g S|

Correct Answer :-Term Deposit / 3df¢ STHT

36)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / ECREE
98 T [Td DI i) arfepal I 3T

e Husband and wife / ufd 3R Ualt
* Fox and Vixen / @HS! 3R ATST AHS!

(16)



e Dog and bitch / T 3R Ffaar
e King and Minister / IS 3R #1
Correct Answer :-King and Minister / < 3 w3t

37)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the humbers to form

meaningful word. / T3 & TTRUT &R A1 A T & TP 3I&R &) GBS d fhar Tam 2| 98 faweu
AT S 91 Wree B AT F o WS & = A 3eRf &1 Hel HH a1 g

VARSTE

123456

* 2,3,1,64,5

* 3,24,5,6,1

® 45,2,3,1,6

* 6,3,4,5,2,1
Correct Answer :-4,5,2,3,1,6
38)

Question Stimulus :-

Who was the first chairperson of India’s National Commission for Women? / HIRd » 'Fl"%?lT 3ITONT &t qﬂ?ﬁ
Sree Hie A

® Lalitha Kumaramangalam / GferdT PARHATIH
® Mohini Giri / Fifg=

® Jayanti Patnaik / Sadl YeAa®

® Vibha Parthasarathy / faur urdarad

Correct Answer :-Jayanti Patnaik / STO<l YeATI®

39)
Question Stimulus :-
Which of the following belongs to the same family as Emancipate, Free and Release? / g d 9 19 9 S afer

(17)



A Feifi & R 76 dumge, simeTg SR S
® Ignore / 3FGEl
® Pardon / HTWI
® Lliberate / Hod
* Quit / BIS &1
Correct Answer :-Liberate / ol
40)

Question Stimulus :-

When was the state of Chhattisgarh carved out of Madhya Pradesh? DUIG I DI AT WS A fquTSia
HI hd IATIT TT?

e 28t May 2000 / 28 30T 2000
* 15t November 2001 / 1 %I} 2001
e 24 April 2000 / 24 3Td 2000
® 1%t November 2000 / 1 Fd&R 2000

Correct Answer :-1%f November 2000 / 1 Fd%R 2000

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

If ‘"Mobility’ is encrypted as 46293927, how is ‘Examination’ encrypted as? / gfe
"Mobility’ # 46293927 ¥ TAThY fHar 1T 8, 99 *Examination’ & 9 TAfPY forar smam?

®* 67250623076

* 56149512965

®* 45038401854

e 57159413955
Correct Answer :-56149512965
2)

Question Stimulus :-
(18)



The average of 12 numbers is X. If each humber is decreased by 5,then the average

becomes? / 12 &I BT 3 Fd X 8| T T® JSI DI 5 F HH B 191 9, o 3 ad a1 SIRATT?
e X
* X+5
* X-5
* X-25
Correct Answer :-X-5
3)
Question Stimulus :-

Three persons are walking from A to B. Their speeds are in the ratio of 4:3:5. The time ratio to reach B will be/ GiG]

FTRT A W B TH TA TR & | ST Tl BT SJUTd 4:3:5 B B TP Uga-l & (I THT HT 3JUTd ST
® 4:3:5
® 5:34
® 15:9:20
° 15:20:12
Correct Answer :-15:20:12
4)

Question Stimulus :-

In a class there are 15 boys and 10 girls. Two students are selected at random. What is the
probability of selecting one boy and one girl? /T® T H 15 ﬁﬁ 3R 10 TsiPHar g1 Uh O Ca|
S fra & A g1 o 31 R "WHIEAT B 6 aafta ol °§ v asa a1 ae@t 82

* 1/3
* 1/2
° 1/4
® 1/5
Correct Answer :-1/2

5)

(19)



Question Stimulus :-

If ‘Understand’ is encrypted as 1234567823, how is ‘Start’ is encrypted? / gfe
‘Understand’ @ 1234567823 ¥ TAThy far 14T §, 99 *Start’ & $ TAfHY fHar smam?

e 56781

° 83243

® 73652

® 67857
Correct Answer :-67857
6)

Question Stimulus :-

3251 x 9L = M15347

Where L & M are representing different numerals; what is M? / 3251 x 9L = M15347 gl L 3R M fafia
U §; 99 M T §2

Correct Answer :-3

7)
Question Stimulus :-

A can do a work in 6 days and B can do the same in 4 days. Both of them finish the work together and get Rs. 300.
What is the share of A? A TP BTH B 6 o=l # &% TpdT § 3R B I &1 FI 4 fai & & gowvar g1 A
FH P! TP AT W T T4 ¢ 3R 3= 300 U Frerd &1 A &1 e fpamn 82

® Rs. 120/ 120 ¥UU¢
® Rs. 150 / 150 =U¢
® Rs. 180 / 180 ¥UY

® Rs.200 / 200 ¥UY

(20)



Correct Answer :-Rs. 120 / 120 ¥UUT

8)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given
below? / 79 33 T IR ual & ¥ R A A 1d & s I9H o4 I TP T8 22

Wilderness Voyageurs, Inc.
P.O. Box 97
Ohiopyle, Pennsylvania 15470

(412) 329-4752

(i) Wilderness Voyageurs, Inc.
P.O. Box 97
Ohiopyle, Pennsylvania 15470

(412) 329-4752

(ii) Wilderness Voyageurs, Inc.
P.O. Box 97
Ohiopyle, Pennsylvania 15470

(412) 329-4752

(iii) Wilderness Voyageurs, Inc.
P.O. Box 97
Ohiapyle, Pennsylvania 15470

(412) 329-4752

(iii) Wilderness Voyageurs, Inc.
P.O. Box 97
Ohiopyle, Pennsylvania 15470

(412) 329-4752

(21)



® jv
Correct Answer :-iii

9)
Question Stimulus :-

The marked price for wrist watch is Rs. 450, but the factory supplied it to recognized dealer at Rs. 390
per watch. What is the rate of discount allowed on each wrist watch? / WW El'bpf G| ﬁr%‘cr BT 450
T g, Afp haedl a5 ISt 9r=uar ured fashar o 390 0 | SMyfef Fdt 81 TP Harg ust W) Fe i
R DI argafa w82

1
e 14 3%,30

1
e 133 9%,60

1
e 10 3%,70

1
* 8 3%,50

L
Correct Answer :-13 3 %,60

10)
Question Stimulus :-

What number must be subtracted from the ratio 2:5 to make it equal to 1:4? / 2:5

U # 1:4 & TH 91 & fou 39d @ ®19 A T gert afge?

® 6

°* 1
Correct Answer :-1

(22)



11)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqu 31&R YADR AT BT TR BIFOITC : abc
bcd cde

® efg

® def

® efh

® cdf
Correct Answer :-def
12)
Question Stimulus :-

In a certain code “SCRIPT” is written a “TCQIQT”. How is “DIGEST” written in the same code? / fordt @ ﬁ%’ 'ef,

“scRIPT” Y Tor@T SITdT § “Tcqiqr”| 39 HIS § “DIGEST” P $d fIRal SITdT 82

® EIGHT

® TIHETT
® EIFETT
® TIFETT

Correct Answer :-EIFETT

13)
Question Stimulus :-

If ‘Monday’ is encrypted as 123456 and ‘Belt’ is encrypted as 0789, how would you
encrypt the word ‘Tombay’? / If¢ ‘Monday’ &I 123456 ¥ 3R ‘Belt’ &I 0789 ¥ TAfpy fovar
T 8, 99 37 ‘“Tombay’ P A TAfHY H?

* 921056
* 460528
e 290165

* 460538

(23)



Correct Answer :-921056

14)
Question Stimulus :-

A scored 30% marks and failed by 15 marks. B scored 40% marks and obtained 35 marks more than those required to
pass. The pass percentage is/ A q 30% i T fha 3R 15 3f®l | \?vliﬁn'uf IETI B 7 40% 3i® U
ford SR Sftof 811 & T smaza® siwl & 35 Siftw o wrw fovd | Sitof wfo=raar @

® 33%

* 38%

* 35%

* 40%
Correct Answer :-35%
15)

Question Stimulus :-

The series given below contains a sequence of alphabets and humbers. Identify the
incorrect combination: / T €t T sgaT s1&Rf Td TSN HT gHH TART H g Tad HaS
gaid|

(i) hjit4x7t2vuwa
(ii) hj1t4ax7t2vuwa
(iii) hjit4x7t2vuwa

(iv) hj1tax7t2uvwa

® ii

® jv
Correct Answer :-iv
16)

Question Stimulus :-

In the sequence shown below, which figure comes next? / <19 fR@™ T H9 # SFTE! 3MFHa
P9 i grfi?

(24)



oo 00 Q00 QDO
OO0 OO Q00 CpO
wlole) ole) Ialy QMmO
o$a
OGO
QT
@
Qo0
QOO0
A00
[ ]
OO0
QAC
HOC
[ ]
Velsls)
Q00
NIODY
[ ]
alelx1
Qﬂ%
Jofele

Correct Answer :-

17)
Question Stimulus :-
(18x3)/2+(14/5)x10+(46/23)x16=?
* 79
e 68
° 87
® 85
Correct Answer :-87
18)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW &R AP HTAT Bl RT BT : a _
ccab_c¢c _ _cca_c

(25)



babbcc

® pbcabbc

abcbbc

cbbacb
Correct Answer :-bcabbc
19)

Question Stimulus :-

Two numbers, first and second, are respectively 15% and 25% more than a third number. The first number as a

percentage of the second number is/ a WTQ'- tl??ﬂ \’rﬁ?g\"lﬁ TR TRAT | HH: 15% 3R 25% Gl'f\‘élaf%l
UGl BT GERY ST B gal iR §

® 92%
® 90%
® 95%
® None of these/%‘lﬁ'\ﬁ@gqﬁ

Correct Answer :-92%

20)

Question Stimulus :-

In how many ways can we arrange ‘n’ things in a row? / T ufd ® o @&l fopaq adte I suafRug foear s gwar

* (n+1)!

* (n-1)!

® 2n!

® n!
Correct Answer :-n!
21)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong

(26)



term. / 99 Uy #, ST 4@ A TP UG TAd €| TAd UG FId BISA|

10,18,34,68,130,258
e 130
e 258
* 68
e 18
Correct Answer :-68

22)

Question Stimulus :-

By selling a T-shirt for Rs. 216, a shopkeeper loses 4%.For how much should he sell it to gain 12%? /
216 3T P TP A1-31E PI B BIP, Tb PR DY 4% PI ST It 21 IH 12% BIRIe B3 & Fore fbeay
# o9 91fee?

® 352

® 552

® 652

® 25
Correct Answer :-25
23)

Question Stimulus :-

(5+2)=(% -
2 - 2

4 A

3
4

e ]

A

[ )
4= | D

(27)



i | v

ea | v

Correct Answer :-

24)
Question Stimulus :-
Complete the series choosing the missing number: / fAQW IWAT TAHR 9GAT B TR BIFMT :

60,54,48,42,

° 38

® 36

e 34

°* 40
Correct Answer :-36
25)

Question Stimulus :-
Two trains staring from the same place run at the rate of 50 km / hr and 55 km/ hr respectively. What time will they
take to be 85 km apart, if they run in the same direction?/ T é’f TYE A Id@ areit a aef PHIT: 50 fPHI/Eer ik
ssfrfiaeTHl Ma A gadi F1 A Qi e T g fem A garct € M up g A ss fpi e A 3%
fora= 9wg @

* 16hrs/ 16 °c

e 18hrs/ 18 TC

® 17hrs/17 °¢

® 15hrs/ 15 ¢
Correct Answer :-17 hrs/ 17 ¢
26)
Question Stimulus :-

If (?)3 / 4 = (?)2 what number should replace *?’? / af¢ (?)3 / 4 = (?)2, &9 i F=TH
27 B TR 3T T1fee?

(28)



Correct Answer :-4

27)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / %

AP B 9 & o <gAaw J@&T | fha-) dreht Jansii @t smazadwdr gifi?

Correct Answer :-13

28)
Question Stimulus :-

Complete the series choosing the missing number: / AW IBAT TAHR 9TAT B QR HIOT :

5,6,7,8,10,11,14,

® 15

(29)



® 16

°* 17

e 18
Correct Answer :-15
29)

Question Stimulus :-

In a class there are 15 boys and 10 girls. Three students are selected at random. What is the probability that both are
boys? / T H&lT & 15 TSP MR 10 ASTpai §1 3 BB ATAFTA &1 A1 SvalT & | 1 WuTa & o wafera
BT A Gl TS 82

* 91/460

® 95/460

* 97/460

® 99/460
Correct Answer :-91/460
30)
Question Stimulus :-

In a certain code 2346 is written as NPSU and 15789 is written as XTZAL. What is the manner in which 23549 is written?

/ forft @ ®ie ® 2346 F npsu for@T SITaT @ 3R 15789 Y xTzAL for@T SiTdT 8] 23549 B fhw aid
¥ forar s

* NCTRM

® PNSTL

e NPLUT

* NPTSL

Correct Answer :-NPTSL

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
Select the organisms which have symbiotic association / 3 Sita &1 Tg4 ﬁﬁf&' o Wﬁﬂﬁ dqaY %

(30)



e Bread mould and bread / 9§ tﬁ"k—(ﬁ AR AT
® Rhizobium bacteria and soil / TIETrﬁﬁTITI \_rﬁaTUJ 3R Hal
® Pea plant and mycorhyza / HCY BT YT 3T ﬂ'f{ﬂﬁ'{'%ﬁ'l

® Rhizobium bacteria and root nodules of leguminous plants / JSHIITH SfaT] 3R BeflgR el & w5 fvs

Correct Answer :-Rhizobium bacteria and root nodules of leguminous plants / mﬁﬂ'ﬁ GﬁHTQI
3R FeileR Wyl & s s

2)
Question Stimulus :-

Besides Amoeba, there is an example of a single cell that can change its shape / 3Hfiar & SIelrdl, Uhdl BIfABT BT
U UHT ISTERUT © Sl 3UHT 3THR ded TPhdl &

® Ostrich egg cell /w 3fE DIRABT

® White Blood Cell / & & HIDT

® Nerve Cell /Fiﬁlm BITRABT

® Muscle cell / by G 1 B |
Correct Answer :-White Blood Cell / § I&I BITRIBT
3)

Question Stimulus :-

The value of sin 0° + cos 0° + tan 0° is / sin 0° + cos 0° + tan 0° BT HIH %

Correct Answer :-1

4)
Question Stimulus :-

The area of a square ABCD with AB=16 cm is / AB=16 Ul ard oIt ABCD &1

TP 3

(31)



32 cm? / 32 At 2

64 cm? / 64 AW 2

256 cm? / 256 AU 2

512 cm? / 512 A 2

Correct Answer :-256 cm? / 256 HY 2

5)
Question Stimulus :-

Fermentation is the process of / Tvaa v ufsan @

* Conversion of starch in to sugar / ¥R & gH A URGdT I

e Conversion of sugar in to alcohol / XgH: & Tehlgld A URadT Bt

® Conversion of protein in to sugar / M & gd? A gRady 1

e Adding yeast to make wine / a8 §91 & forg @HR fa™ &1
Correct Answer :-Conversion of sugar in to alcohol / TP & Tedlgid H URadT $1
6)

Question Stimulus :-

If a point lies inside a circle, what will be the number of tangents drawn from that point to the circle? / Ife Ush ﬁg qd F

3re? fRua ® o 39 g @ 99 W fha-i wuxf ey &= o gt 82

® infinitely many / 3f-I=d
Correct Answer :-0
7)
Question Stimulus :-

What is done with the crumbs in the ploughed field / g‘?r 8¢ Qd A Hal * a% gﬂﬁﬁ &7 T foean
AT @

(32)



® The crumbs are collected and removed from the soil. / S-TPI W ICIRSIGI % Gﬁ? Hal ﬁ Bcl ﬁqT SITdT
T

® The crumbs do not serve any purpose. / gﬂﬁ-ﬁ Gl ﬁé SUANT Hﬁ % |

® The big pieces of soil called crumbs are levelled with the leveller. / Hal & a% gﬁ o8 v wgT ST %
S GHATard kT HHAd fopar STt |

® The crumbs do not have any nutrient. / m i ﬁ% ff Tive a@ T'|_6pf Eﬁ?ﬂ %l

Correct Answer :-The big pieces of soil called crumbs are levelled with the leveller. / §al & Elé' gﬂ@f forg
P BT STdT ¢ S0 THATAIG! GIRT HHdS BT STl 3|

8)

Question Stimulus :-

A candle is kept in front of a plane mirror at a distance of 22 cm. The distance between the candle & the image would

%wmﬁﬁmm%mﬁzzﬁgﬁmww.mﬁ&ﬁ!uﬁﬂﬁa%aﬁﬁw

® 11cm / 11 G
e 22cm / 22 9Hl
® 44cm / 44 A
e 88 cm / 88 |Ht
Correct Answer :-44 cm / 44 I}

9)

Question Stimulus :-
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri-Taliya. Answer the following questions using the

information provided. / 9 U1 ‘gFRT TelaT’ & B5 TAfa Bicioll # S{EHT-31e URTSH Srifd 99, AHfA®! IR
AT B BT BT U Tl 21 SUa BRI TS TSGR BT IUGRT B 1Y Taral % ward 2

(33)



Percentage of Students in Different Streams

| 3 Science A Humanities O Commerce

30% = / :EEEEE L2
20% iy - - Epkyly
109% ::::: :::::: _::::: :::::: ::::::
0% LES EEE e —
A B C D E E
Colleges
HeTI-3eldT ©TUAT 7 GIAT & Giaerd

T, A=fadr At o=

The total of the percentages of Science students in colleges A C and D exceeds the total of the percentages of Science

students in colleges B, E and F by how much?/ﬁ?ﬁﬁ A, C Dﬁﬁﬁﬂ%mmﬁm AR B, ESMRF
# fag & oEl & uloma & $a 3 fean it 32

® -5%
® No difference /?ﬁ'a‘: GI?R"_'I%:T
® 5%
® 10%
Correct Answer :-5%

10)

Question Stimulus :-
Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri-Taliya. Answer the following questions using the

information provided. / 79 U1 ‘gFRT TolaT’ & B TAf¥a Biciell # S-S URTST Srifd 99, AHA®! IR
T & Wt T TRIRId faTaT ¥ Jus RIS TS IET BT SN IR g Fareh & ward

(34)



Percentage of Students in Different Streams

| 3 Science A Humanities O Commerce

100%

.
o

=]
o

NN
DMAAN
\\2

N

N
BHN

(=] =]
&= 5

=)

= M Oy =~ GO (O
o O o a a

(] -]
20% ] 424
10% T

0%

A B [ D E F
Colleges

IOTI-FeldT ST & GIAT &l Wiaerd
CHEIGEGIGIEE B IEC

The total of the percentages of Humanities and Commerce students in colleges B and F exceeds the total of the percentages

of Science students in colleges B, D and E by how much? / Bl B Gﬁ?FﬁﬁﬁﬁﬁGﬁ?mﬂa?wmﬁ
wfr=ra, Fias g, 0 3R £ ¥ g & o & ufama & o A fear ot 82

® 35%

® 45%

® 50%

® 60%
Correct Answer :-45%
11)

Question Stimulus :-

While rolling a chapatti with a rolling pin ,we sprinkle dry flour on the rolling board to / I I IuTd Sed THY,

T THa W @ 31T fSsad ¢, safeg
® Increase friction / HYUT 9¢M & forg
® Reduce friction / IYU] $H B4 & fo1Q
® Add taste to the chapatti / TUTd} BT WG ggM4 & AT

® Roast it evenly on the tava / Td R GHEGT S AP & ﬁ'ﬂ'{

(35)



Correct Answer :-Reduce friction / THUT BH HI & T

12)
Question Stimulus :-

The male reproductive organ that produces sperms is / J[shTU] Iaurfed B aran 7R'\“FF'IT‘T%
® Sperm duct / sk HT%:ﬁ
® Testis / qUUT
® Penis/ R
® Vas deferens / WT%W

Correct Answer :-Testis / UUI

13)

Question Stimulus :-

The number of solutions for the pair of linear equations x + y = 0 and 2x + 2y =
0is ./ X +y =0 3R 2x + 2y = 0 3&Y FHH & W & forw gat
T gl

* 0

° 1

° 2

® Infinite / 3Fd

Correct Answer :-Infinite / 3Fd

14)

Question Stimulus :-

Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri-Taliya. Answer the following questions using the
information provided. / 7% T ‘ARt delaT’ & B¢ A Biciel § SET-37e URTSH orifd s, AFfa® iR
forsT 7 BET &1 ufawrd fardT 81 SUds $R1s 718 SIFBR! &1 TR #R Y Jaral & sard S|

(36)



Percentage of Students in Different Streams

| 3 Science A Humanities O Commerce

30% = / :EEEEE L2
20% iy - - Epkyly
109% ::::: :::::: _::::: :::::: ::::::
0% LES =l === =l =
A B C D E E
Colleges
HeTI-3eldT ©TUAT 7 GIAT & Giaerd

T, A=fadr At o=

The total number of students in colleges A, B and C are 2500, 3000 and 2000 respectively. How many Humanities students
are there in the three colleges taken together? / CAI]] A B 3R c ¥ B B od =T 2500, 3000 3R 2000
PHH: T 39 dIF Dol d T A fhda AARP! B 82

® 2875
® 3125
® 3275
® 3450
Correct Answer :-2875

15)

Question Stimulus :-

Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri-Taliya. Answer the following questions using the
information provided. / % 7T ‘&Rl T & o fAfiT Bicet # SienT-3erT yRTeit srifd fagm, AaAfast 8k
T & B &1 ufoRia fearar 81 Suds aRTs T8 IHeR! BT SN o 5 Jardl & Sarg <1
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Percentage of Students in Different Streams

| 3 Science A Humanities O Commerce

30% = / :EEEEE L2
20% iy kel R ety
109% ::::: :::::: _::::: :::::: ::::::
0% = =1 == == e
A B [ D E F
Colleges

IOTI-FeldT ST & GIAT &l Wiaerd
CHEIGEGIGIEE B IEC

The total number of students in colleges C, D and F are 2000, 4000 and 3000 respectively. Which of these colleges has the
highest number of Humanities students? / @Idsl ¢, D 3R F # B @ $a IWAT HUIM: 2000, 4000 3R 3000
21 3 o9 rasl | g # 999 WIeT AFfae] 31 82

® Can not be determined / 99 g1 BT ST THdT
Correct Answer :-C

16)

Question Stimulus :-

The quadratic equation 225 +4r+42=0 hag VARG IGE:CIC T
2250w 4x+ 2= [], ) g’iﬁ- %

 real and different / dI<a® Gﬁ?ﬁfﬁ-ﬁ%

e equal roots / SRTAX Hdl
 imaginary roots / W@r

e 3roots / 3 Hd

(38)



Correct Answer :-equal roots / SRTdR ol

17)

Question Stimulus :-

Acid rain is the result of increase in / 317 quf A9 # ¥ fraw! gfg &1 aRkomg @
® Dust and microbes in air /dTYg i | el 3R ﬁ?ﬂﬁa
® CO,and CO in air /91 & CO, 3R CO
® S0, and NO, in air / 91T # S0, 3R NO,

® Dust and ozone in air / dTY i Yol AR M=

Correct Answer :-SO, and NO, in air / aTg § S0, 3R NO,

18)

Question Stimulus :-

Which one of the following in not a ruminant? / ﬁl'g ﬁ' ﬁ ﬁq F&Iﬁ_{ :Iﬁ %?
e Buffalo, bull / ¥4, 1S
® Deer, horse / favUT, Eﬁ?ﬂ
® Monkey, cat / deR, foeett
® Cow, ox /1, I
Correct Answer :-Monkey, cat / 53, foeil

19)
Question Stimulus :-

If the cost price of 12 tables is equal to the selling price of 16 tables, the loss percent is: / 'Clﬁ' 12 Hell BT $HI-JeJ 16

At ¥ fasva gea F |9 &, 19 31 v 2
® 30%
® 50%
® 15%

® 25%

(39)



Correct Answer :-25%

20)

Question Stimulus :-

Following graph shows the percentage of students in different streams viz. Science, Humanities and
Commerce, in six different colleges of Jhumri-Taliya. Answer the following questions using the
information provided. / 74 T ‘AR Ao’ & B6 fAfa Diciell # SEHT-S1ET URTST Srifd s, AMfaH SR
IO § ST o7 ufaRid fomarar g1 Suas dR1s 78 SIFeR! &7 SN HR Y Jardl & ward ¢ |

Percentage of Students in Different 5treams

| 3 Science A Humanities O Commerce

100% T — —
90% R e e SO SO RIS
80% e R e R R SO
70% s e - SR .
60% 7/ 7 e //

50% / / . B %
40% 7 / / Z /
30% +—-—-] % o 7
209% —= 2 - F o
10% = ] It - it
0% +——— e T
A B C D E F
Colleges

I3 ST & &rE & giaerd
TaaT=, AATadr HT Ao
Ao

The total number of students in colleges D and E are 4000 and 3500 respectively. What is the total number of Science and
Commerce students in both the colleges taken together? / Picsl b 3R E § DE P P TWAT 4000 3R 3500

HU: T §9 9 Dicel & To Ay fFaq Iy ok aifos 8 &2
® 4500
® 4700
® 5500
® 5700

Correct Answer :-5700

21)
Question Stimulus :-

Find the perimeter of a quadrant of a circle whose radius is 7 cm. / 39 qd & ?lﬂ?-l'f-'l'l' &1 URATT FIG) ﬁﬁﬂz ot
frear 7 Aft B1

(40)



* 44cm /449w

° 11cm/ 119

e 22cm/ 229

* 44/7cm/ 44/7 9
Correct Answer :-

22)
Question Stimulus :-

The bile juice is not a digestive juice.Then why is it necessary for digestion? / PEGRIEE S =|€f %I dd 9% Ul
& foe it srmawg® B2

® |t helps in emulsification of fat / dg 9T & yrgieor o e —™dT hIdl %
e It gives an alkaline medium / 9% &g ATEAH USH Bl &
® |t activates the digestive enzymes / Ug UTI UIIgH CIRERIRIGERIGIH %
e All the above functions / SWRITT g &rf
Correct Answer :-All the above functions / SWRIFT gt &rf

23)
Question Stimulus :-

a 8 c at+b+e a 8 ¢ at+b+e

If> * 7, then ¢ isequalto:/afe ¥ * 7,a@ ¢ SHPWEe:

bt | =

"‘-II'—"

Correct Answer :-2

24)

Question Stimulus :-
(41)



Asha happened to eat food that was contaminated by housefly. To which of the following disease she is susceptible

to? / TR 7 98 Yo a1 feram o1 o waxelt 3 gia &= o o1 5978 @ 99 | A & ufa 98
SffeRide=ie gRi?

® Malaria /'Flﬁﬁ'qT

® Tuberculosis / &T IT
® Measles / HRT

® Cholera/ %ﬁﬂ

Correct Answer :-Cholera / &6l

25)
Question Stimulus :-

Large amplitude of sound vibrations will produce / waf duq & a% 3TATH IUA P
® Feeble sound / &‘ﬁ'UT eaf=r
® Shrill sound / dteor eafy
® Loudsound / Udd eqfy
® Gruff sound / HDHY df

Correct Answer :-Loud sound / USd taf

26)
Question Stimulus :-

In the given figure, AB =AC and DB = DC, find the ratio LABD: LACD. / < Tl 3fpfa &,
AB=AC 3R DB=DC g d LABD: LACD &T 3[JUrd J1d &I

(42)



Correct Answer :-1:1

27)

Question Stimulus :-

Identify the bacterial disease in which the patient loses weight,suffers from severe cough
and sometimes show blood traces in sputum / 39 Saifvdae INT &1 ygar— PorgH Wt &1 ae=
$Y gl 9 dl 8, 98 dig Tidt & Nifea gl oirar 8 iR &t st Yo & 3o smar 31

* Typhoid / CTAWISS
® Tuberculosis / & IRT

® Polio / Tferay

* Influenza / SURIESIT

Correct Answer :-Tuberculosis / &3 3T

28)

Question Stimulus :-

What is the total number of teeth in a human adult ,including wisdom teeth? / HTHd IThT A Pd frat I A

g gid &, R sroat grg off =mire ¢2
® 16
°* 32
* 64
° 238
Correct Answer :-32

29)

Question Stimulus :-

13\3 7133
(2) & ( 2) The product of this expression is
TAEA_ §

(43)



1
Correct Answer :-5%

30)
Question Stimulus :-
Identify the adaptive features in a polar bear / ‘ﬂ?ﬁ'q ‘H'Iﬁﬁ GIW &1 UgaT-1

® A white fur, fat below the skin, keen sense of smell / Th ﬂﬁ?_c’{ Y, 9 & A 9T, 1Y &I dteor

® Thin skin, large eyes, a white fur / qddt oI, a'rﬁ Gﬁ'@, Th m T
® A large body, curved sharp claws, large paws. / d@l IR, Wﬂﬂ”ﬂﬁ ti@[, a% St
® White body, paws for swimming, gills for respiration. / Tqh¢ IR, A F e Uel, Xa9 & fod R

Correct Answer :-A white fur, fat below the skin, keen sense of smell / TH "\qﬁ»—d Y, T & = 99T,
Ty Ft deur IS

(44)



